t85_group_3
(TMZyH63Wm6zzCpbierNR3QsVKXPILApeUmc)

October 27, 2020

Let v2_struct-0 : =0 be given. Let v2_group_1 : t=0 be given. Let
v3_group-1 : =0 be given. Let [3_algstr_0 : t=o0 be given. Let m1_subset_1 :
t=-1=0 be given. Let ul_struct_0 : 1=t be given. Let k7_group_3 : t.=>1=-1 be
given. Let r1_zboole 0 : t=1=>0 be given. Let r2_group_3 : t=>1=1=>0 be given.
Let r1_tarski : t=1=>0 be given. Assume the following.

VX0.((—v2_struct_0 X0)A((v2_group-1 X0)A((v3_group-1
X0)A(I3-algstr_0 X0))))=(VX1.(ml_subset_-1 X1 (ul_struct0 (1)
X0))=(VX2.(ml_subset_1 X2 (ul_struct_0 X0))=((X1 € k7_group_3

X0 X2)&(r2_group3 X0 X1 X2))))

Assume the following.

VX0.VX1.((—v2_struct.0 X1)A((v2_group-1 X1)A(
(v3_group_-1 X1)A(I3-algstr0 X1))))=(VX2.(m1_subset_1
X2 (ul_struct 0 X1))=((X0 € k7_group-3 X1 X2)<(3X3.(ml_subset_1
X3 (ul_struct 0 X1))A((X3 = X0)A(r2_group-3 X1 X2 X3)))))

Assume the following.

VX0.((—v2_struct 0 X0)A((v2_group_-1 X0)A((v3_group_1
X0)A(13-algstr 0 X0))))=(VX1.(m1l_subset-1 X1 (ul_struct0
X0))=(vX2.(ml_subset_1 X2 (ul_struct-0 X0))=(VX3.
(ml_subset-1 X3 (ul_struct-0 X0))=(((r2_-group-3 X0 X1 X2)A(r2_group_3
X0 X2 X3))=(r2_group3 X0 X1 X3)))))
(3)
Assume the following.

VX0.VX1.(=(-rlaboole. 0 X0 X1)A(VX2.~(X2 €
XN (X2 € X1)))A(-(3X2.(X2 € X0)A(X2 € X1))A(rl_xzboole_0 (4)
X0 X1))



Assume the following.

VX0.VX1VX2.(((—v2_struct 0 X0)A((v2_group_1
X0)A((v3_group-1 X0)A(I3_algstr_0 X0))))A((ml_subset_.1 X1 ( (5)
ul_struct-0 X0))A(ml_subset_-1 X2 (ul_struct-0 X0))))=(r2_group-3
X0 X1 X1)

Assume the following.

VYX0.VX1.(rl tarski X0 X1)=(VX2.(X2 € X0)= (©)
(X2 € X1))

Assume the following.
VX0VX1.(X0=X1)e((rltarski X0 X1)A(rl tarski X1 X0))  (7)

Theorem 1

VX0.((—v2_struct .0 X0)A((v2_group-1 X0)A((v3_group_1
X0)A(I3-algstr 0 X0))))=(VX1.(ml_subset_1 X1 (ul_struct0
X0))=(vX2.(ml_subset_1 X2 (ul_struct-0 X0))=((k7_group-3

X0 X1 =k7_group3 X0 X2)&(—rl_aboole 0 (k7_group-3 X0 X1) (k7_group-3
X0 X2)))))



